TERM I

MATHEMATICS STD 6
1.- Which one ofthe following is seven million two 11.
hundred and fifty thousand four hundred and nine in
symbols? _
A. 7,250,409 2’ B. 7,205,409
C. 7,250,490 D. 7025,40%
2. School enrolment in a certain county was as follows: A. 60° B. 70°
Boys 143028, girls 113409. How many pupilsare. § C. 50° D, 40°
there altogether to the nearest thousand? 12. Benbought 8 books. 5 of them eost him shs. m
A.256437 B. 257000 each and the rest cost him shs. t each. How much
C. 256000 D. 256400 did he spend altogether?
3. Whatisthe sum of the squares 0of 16 and 30 A.shs.5Sm+t B. shs. 5m+ 8t
A.286 B. 46 C.shs.m+t D.shs. Sm-+3t
C. 2116 D. 1156 13. Arectangleis2% mlong and 1Ym wide. What is
4. Whatisthe place value of digit 4 in the number the area?
34206871 - A.3Y/ cm? B. 3Vicm?
A. Tenmillions ' B. Millions o C T em? D.2Y cm?
C. Hundred thousands D. Ten thousand 14. Work out: (3",
5. Thepopulationofacounty is 15200614. The number A. 10%,, ; : B. 9,
of children is 8475295 and that of women s . C6% D. 15/25
4,095,768. How many men are there? 15. What is the circumference. Take pieas 22/
A. 6,725,319 = B. 2730668
C. 21T 61T == D. 2,629,551

6. Whatisthe greatest number that can divide exactly
into 36, 54 and 72 without remainder?

A.6 : B.9 N\ S
C.18 B 216 . © A 17.6cm : B.35.2cm
7.  Work out: 53[63759 C.3.52cm D.1.76cm
A.1203 B. 1023 16. Fid the area of a triangle whose base is 9.4cm and
C.123 D. 1230 : height 3.6cm
8. Work out: 5% + 4%/, 4 3Y/, A.13.0cm? B. 33.84cm?
D ' B. 134/ ; . C.169.2cm? i - D.16.92cm?
G2 D. 1374, 17. Write 0.65ha in square metres
9. Whatlsthevalue of: 0.78x 0.5 ; A. 65 B. 650
A.0.039 - B.39 : C. 6500 : D. 65000
C. 0.39 D. 0.309 18. Inthe figure a.ngw g—angle fand angle £=56°
10. If60% of a quantity is 300 what is 40% of the W,
quantity? :
A. 150 B. 200
S5, 500 D. 100 2

What is the size of angle e?
A. 68° : B. 124°
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.Find the area of the shaded part

A motorist left Nyeri at 9.45am. He took 4%hours
toreach Nairobi. At what time did he reach Nairobi?
A.2.15am B.2.15pm
C.2.05pm D.5.15pm

A box measures 2.5mlong, 0.4m wide and 0.6m
high. Whatisits volume in ém3 ;

A.0.6 B. 600

C. 6000 - D. 600000
. Howmany decilitres are there in 5.6 litres

A. 5600 B. 560

C.56 D.5.6
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B. 380cm?
" D. 800cm?
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A. 480cm? 2ern
C. 420cm?

A school has 360 pupils in upper primary this is 60%

of the total numiber of pupils in the school. What is
the total number of pupils in the school?

A. 21600 B. 420
C.216 D. 600
. What is 8 + 0.02
AR - - B. 40
C. 400 D. 4000
Work out: 8%/, + %/, _
A.26% : . B.25%
€25 D. 8%,

The volume of the box is 1260cm?®

Iscm
What is the width?
A.84cm B. 7cm
C.l4cm D. 180cm
Work out the multiplication
Litres dl - m
8 6 35

% ‘ 8

A. 65litres 8d] 280ml
B. 64litres 50d] 80ml
C. 64 litres 4841 280ml

" D. 68litres 8dl 280ml
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30. The areaofthe plotshownis 1.2ha

- Convert 2.7 tonnes into kilograms
A.27 B.270
C. 2700 D. 27000

Purity bought 60 eggs for shs. 500 four of the eggs
got broken. She sold the rest at shs. 10 each. Wha
was her percentage profit? "~
A. 12% B. 60%

C. 20% D.15%

31.

f =
200m -
Whatis its height?
. A.40m B.80m
C.160m D.8m
What is the complement of 58°
A 1220 B. 48°
C. 138° D. 32¢
32. Howmany hours are th_ere from midnight to 4pm? -
A 12 B.8
C. 16 D.4

The table below shows timetable for a train. Use it

._to answer questions 33 and 34

Nairobi Thika Murang’a | Nyeri
Am: [Dept [Ax [Dept | Az Dept. | A | Dept
Timein| 023011250 | 1410]1450 | 1600} 1620 20151 2200 |
24his :
. Howlongisthe stopover at Nyeri?
A.2hrs 15mins B. 1hr 15mins -
C.2hrs 45mins D. 1hr 45mins
34. Howlong does the journey take from Nairobi to
Murang®a?
A. Thrs 30mins B.3hrs 10mins
C. 3hrs 30mins D. 7hrs 50mins
35. Work out ' '
e ke Vo
23 0 %0
- 995575

36.

A. 13t 43kg 25¢ B. 13t 44kg 925¢
C. 13t 43kg 925¢ - D. 13t 44kg 25¢
A herrwas bought for shs. 300 and sold forshs.240.
What was the percentage loss?

A.20% B.30%
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37. Dansonscored the following marks in an examination 45. What is the next shape in the pattern ‘
85, 60, 55, 72 and 68. What was hismea’nsgore? I T e e TR T

- AL 340 B. 68
. 165 D. 69
38. What is the correct symbol to post between these
numbers? .
5.days 100 hours
A> B
€= D. Equivalent

The table below shows postal charges for parcels. ,gﬁ : ‘ k
Use it to answer questions 39 and 40 : ////m ' m ///

Surface parcels
| Weight Steps Afiica | Europe/ | Restof 46. Whatis the next aumber in the pattern
near Bast| world o | LT .
shs. shs. A2 T B. 23
Upto 1kg 980 1116 {1200 €24 e D.6
Over lkgupto Skg 1400 | 1560 1680 47. Whatisthe value of d
Over Skgupto 10kg {1725 | 1940 2000 : 6(2d +3) -8 =46
Over 10kgupto 15kg| 1950 | 2250 2400 o A2 B.3
Over 15kg upto 20kg|2300 | 2580 2600 C. 4/, D.7
Over 20kg upto 30kg 2500 | 2700 | 2900 48, What is V361
39 Asha sent the following A. 17 B.90%
1 parcel weighing 14kg to Egypt(Africa) e G20 D.19
1 parcel weighing 21kg to America (rest of the The sraph shows sale of eggs by a farmerina-
werld). How much did she pay for the postage? © week, Use it to answer questions 49 and 50
A. shs. 4850 B.shs. 1950 B e T
C.shs. 4150 ~ D.shs. 4450 D [ A R
40. Sandrasentthe following: ?}jg; A i
© . 2Zparcels each weighing 10kg to Italy (Europe} EEERi 7 AL Eg“ﬁf g T
and I parcel of ¥%:kg to Tanzania (Africa). How | » sl ' o el 41
much did she pay for the postage? ; 3 HEH . gl £ | Vi it
A. shs. 3880 © B.shs. 980 & i i sl S
C.shs. 2920. D.shs. 4860 \‘3 R L | paly il g
41. The scale 1cm represents 500 metres can be written W i i : :: f:_z' g
as lem represents cm D) o — : A A
A. 500 B. 5000 : el it Bulash (808 bty Binill |
. C. 50000 D. 500000 % G s i e gt MR gt &
42. Whatisthe LCM of4, 6 and 9 % ] "Q:x:_: apa eirat :: V) it '
A B. 18 S W e e
o DD R 2 s il s S gr
- fi;?)_. Simplify: %(8m + 120)+2(t+m) ' 0% o, “E | NE ‘ ‘-m—u = e
A.2m+3t B.3m+4t 49. How many more ¢tates of eggs were sold on
C.4m + 5t D.4m+4t Wednesday than on Thursday?
44, Afamily uses 200g of sugar everyday. Sugarcosts | A 14 v Bl
shs. 96 perkilogram. Find the total amount of money C. 4 B D.6 -
the family spends on sugar in 20 days? - ; 50. What was the total number of crates sckd during the
A. shs. 384 = - B.shs. 4000 last three days?
C.shs. 384000 + D.shs. 316 A. 30 B. 34
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